DIRECTION SENSE TEST

Direction is an imagination that can be
predicted with the help of the sun in the day and
the pole star at night. We know that the direction
in which the sun rises is east and the direction
in which the sun sets is called west. We can easily
understand the direction knowledge test. If we
stand facing the sun at sunrise, then that direc-
tion is east, backwards west, left side north and
right side is called south.

Today, in the competition of increasing com-
petitive exams, direction test questions are com-
pulsorily asked in almost all competitive exams.
The main purpose of this type of examination is
to check the knowledge related to the direction of
the candidate / candidate.

Generally, there are four types of directions,
but in addition to these directions in direction
related questions, it is necessary to have
knowledge of four other directions as well.

DIRECTIONS ACCORDING TO THE FIGURE
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According to the diagram, the direction between north
and east is' north-east ', the direction between south and east
1s' south-east', the direction between south and west is' south-
west' and between north and west is called 'North-West'.

Two types of questions related to Disha knowledge test
are often asked in competitive exams:

(i) Questions based on directions

(ii) Distance based questions

(iii) Shape based questions
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Mohan travelled westward 5 kms., turned left
and travelled 3 kms., turned right and
travelled 9 kms. Then he travelled north 3
kms. How far he is from the starting point ?

HiE qfved it @R 5 fadl. amn wwa ?, o il
gea 3 forefl. 1 amn wwar € ok fre <l gea 9
foRefl. T = SRl B1 7 oF ST T AR 3 TRl it A
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(a) 5 kms. /T, (b) 3 kms. /T

(c) 6 kms. /T (d) 14 kms. /&

(e) None of these

A man started walking towards West. He
turned right, then right again and finally

turned left. Towards which direction was he
walking now ?
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(a) North/3™ (b) South/zfauT

(c) West/qfe=m (d East/9@

(e) None of these

Abhinav travels 10km north then turns left,
then he travels 6km and turns right and
cover another 7km. He finally turns to right
and travels another 6km. How far (in km) is
he from the point of starting his journey?
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(@ 14 (b) 16

(c) 15 @ 17

(e) None of these

Priya cycles 5 km North, then turns East and
cycles 4 km, then turns South and cycles 5
km, then turns to her right and cycles 6 km.

Where is she now with reference to her
starting position?
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TRt =l €1 o8 1o Wi feafa o ot wel 82
(a) 2km East / 2 fodl. 5@

(b) 2 km West / 2 fo&t. afr=m

(c) 10 km West / 10 Tt afy=m

(d) 10 km East / 10 f&. &

(e) None of these

'A' starts walking towards North, turns left,
again turns left, turns right, again turns
right. In which direction is 'A' walking now?
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(a) North/3w™ (b) South /=faor

(c) West/qf¥=m (d) South-East/zf&or-q¢
(e) None of these

A man started to walk towards East. After
moving a distance he turned to his right.
After moving a distance he turned to his
right again After moving a little he turned
in the end to his left. In which direction was
he going now?
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(a) North/3S™

(c) East/&é

(e) None of these

I went 15 m to the north, then I turned west
and covered 10 m, then I turned south and
covered 5 m and then turned east and
covered 10 m. In which direction I am from
the starting point ?
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(a) East/qd (b) West/afe=m

(c) North/S™ (d) South/zfaur

(e) None of these

(b) South /afm
(d) West/qfv=m



10.

11.

12.

A man goes 5 km East, then he turns right
and goes 4 km, then he turns left and goes 5
km. Which direction is he facing now ?
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(a) North /3™ (b) South/zfefm

(c) East/gd (d) West/qfv=m

(e) None of these

A man walks 4 km to the east turns left walks
4 km and turns left and walks 4 km. Which
direction is he facing ?
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(a) South /3o (b) East/Td

(c) West/qfe=m (d) North/3wW™

(e) None of these

If Ram's house is located to the south of
Krishna's house and Govinda's house is to
the east of Krishna's house, in what direction
is Ram's house situated with respect to
Govinda's house ?
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(a) North-East/3®-7d

(b) North-West/3Iw-afy=m

(c) South-East/f&0-gd

(d) South-West/3f&or-ufv=m

(e) None of these

Radhika went 50 metres south from her
house then turned left and went 20 metres
then turning, to north she went 30 metres.
In which direction is her home from this point?
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(a) North/3W

(b) South-West/IT-4f¥=H

(c) East/T:f

(d) North-West/3W-qft=m

(e) None of these

'X'"is in the East of 'Y' which is in the North
of 'Z' If 'P' is the East of 'Z' then in which
direction of 'X', is 'P":
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— SAFALTA CLASS

An Initiative by 3THIISTIcTl
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(a) South-West/3fam-ufy=m

(b) South-East/3faor-gd

(c) South /e

(d) West/qfe=m

(e) None of these

A is located to the West of B. C is located at
North in between A and B. D is exactly to
the South of B and also in line with B. In
which direction of C is D located?
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(a) South/zfef0T

(b) South-East /If&o-Td

(c) West/qfe=H

(d South-West /<faor-ufy=m

(e) None of these

Ram walks 10m South from his house, turns
left and walks 25 m, again turns left and
walks 40 m, then turns right and walks 5 m
to reach the school. In which direction is
the school from his house?
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(a) North/3S™

(b) South-West/3famu-ufy=m

(c) North-East/ W—‘{q‘

(d) East/qd

(e) None of these

Rani and Sarita started from a place X. Rani
went West and Sarita went North, both
travelling with the same speed. After
sometimes, both turned their left and walked
a few steps. If they again turned to their left,
in which directions' the faces of Rani and
Sarita are going respectively.
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An Initiative by 3R ISIICT

16.

17.

18.

19.

oft g faon o o & @2

(a) North and East/3X R 13?

(b) North and West/3wW iR qfy=m
(c) West and North /4f¥=m 3R 3w
(d East and South/7d @R gferor
(e

) None of these
Rajat moves from his office to the canteen
straight at a distance of 12 metres. Then
he turned left and walked for 2 metres, Then
he turns left again and walks straight for
12 metres. How far is he from his office?
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(a) 10 metres/®.  (b) 12 metres/.

(c) 8 metres/™. (d) 2 metres /.

(e) None of these

A man walks 6 kms South, turns left and
walks 4 kms, again left and walks 5 kms.
Which direction is he facing now ?
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(a) South /&0 (b) North /3™

(c) East/gd (d) West/qf=m

(e) None of these

A man drives his car 6 km towards West, then
turns left and drives 3 km and again turns
left and drives 3 km. Find out the final
direction of the man from his original position.
TF STEH! T wR Tl 6 Tl afvem # S
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(a) South-West /faor-ufy=m

(b) North-West/3Im-af¥y=m

(c) North-East/3I®-7d

(d South-East/zfaor-7&

(e) None of these

A postman starts delivering letters 3 km
southwards and then turns right. He covers
4 km on this road and again turns right. He
delivers letters for 3 km and completes his
daily beat. Then, he turns left for lunch at
home, which is 5 km away. How far has he
to travel to reach the post office after lunch?

T ST fa feen ® e dfed gu 3 foRel. s
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20.

HA ¢ R G ¢ qear 21 98 3 R e arem
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fere forat g T T BAA?
(a) 15 km /. (b) 10 km /f&e.
(c) 9 km/fw (d) 8 km/fewH.

(e) None of these

A cyclist rides 40 kms to the east, turns north
and rides 20 kms, again turns left and rides
20 kms. How far is he from the starting point?

T Higfehet aren gd &1 S7iT 40 TRt wman 7, fwe
S qgHT 20 frel. W 2, qF: 9 g eI
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(a) O km/fes. (b) 10 kms/feH.
(c) 2 kms/fwe. (d) 30 kms/fH.

(e) None of these





